)
[EEY
~———/

|

30 1 22



29 10 31
-1
No.
2 H = — BH =
3 E
No.
H
H E B =
= 10y
17 1T
1T =) 1T
1T —H2
1T
e & P4 G
1T
£ B 1T =]
1=
£
= F P.
H 1T
52 =
K
sl




2]

&g

29
31
10

10

(2)

30
22
10
30
26
10

29

25 26

30

29

3

28

25 26

(1)

30

28
K




(1)

FIHTDHEH720L(99)
TELEVARICITIRL(102)

tOBBHERNBHZINS(118)

FHRNEEENS(47)
FIRSED D SEUNS(9)
FUERE LD S (41
FIRBIIR A SN S(69)

10£(10)

204%(9)
3044(21)
40{%(17)
50%(14)
601t(31)
701%(36)
8044(20)

it

8EE(79)
9EFE(276)
108F5(217)
11B£5(105)
12FF&(90)
13E#&(74)
14F£5(69)
15B5£3(82)
16E5£3(65)

30%

17B5£3(85)

24.2%

17

-2

N=1,12

AN RIZNS(14)
RIBIBAGEL DS (34)
[E=E8] 2A5RH ()

Zof(1) |

-3 A
17
17
NO
20
= 7:00 | 17: e
2 8:00 17: %
: 7:00 | 20: e i e i L
4 7:00 | 18 e e e e e
> 8:30 | 17: i i e e
6 8:00 18:
/ 8:30 | 17:30 | | | P
8 8:00 | 17:00 | | fepmfrmfmmfom e
9 9:00 | 21 e L
10 i 8:00 | 16:30 | | |t | | |
1 8:00 | 17:00 | | |l
4 E




(1) &
g Gy SO
3®
=
& 7K
5O g
(2) & ys]
1 &
& N
&
7K
& 5@ /
50 /
N & 5 F F F
3®
17 11,2 B 54
=< 4.85
2
& B £ X
H 3K'm 54 2Km 4K
92 2K £ 5K'm H
Ak E F FA
17 F

(621[E]) N=1,142[E
60.0% 54,4%
50.0%
40.0%
(2340ED)
30.0% (205[E])
20.5% 18.0%
20.0% 5
10.0% (10ED 460, a7m (=
0.9% L5%  0.2%
00%  — L .-
1KmFEF 1Km~ 2Km~ 3Km~ 4K~ SKm~ 6KmblE
1ZENEEE
-5 -6
& E
5@ G J=! 7 JE H 5 5®
1.0 G
0% 20% 40% 60% 80% 100% J F
(a6 1.2%3:5% o F
FiRUTHELRZ(86) 300 %22.:1% 3. ]
B30 (151)0- 1% 9.9% ' |
( )0._7%5.3% 29.1% |2.
FREiR(330) -%13.6% 27.3% | 27.0|-% 3.6%|21.8% 2.'4% \‘ 3|5 Jz=!
24K(567) 28%9.7% 19.0% 26.8% 3.2% 36.5%  1.8%
w R 1003 100MLlE 200
200MLLE  300MEH 300MLLE 400k 400MmLLE 5 00FIF:H
500MLLE1,000/FS 1,000
-7 s =
BN 3 J=! A
G 2@ 3@ 5® 30
£
£ H X
3®
T =




-1 += &
®H s
20 1H 1
30 6
INEE
5O 2
1O 5®
2D 3® 140 1
& 5@ /
1 5®
J=! 3 kn 4 kn
54 £ J=! H
A & 3 kn 4 kn
& &
BEinEtEE BlE (M)
60.0% 54.4% 2,000
50.0%
1,500
40.0%
30.0% 1,000
20.5%
20.0%
& 45 500
10.00/{) 0.90/0 4.60/0
&
0.0% — ‘ 0
1IKmE®  1Km~ 2Km~ 3Km~ 4Km~ S5Km~ 6KmElt
e EEIEEE (5> REIZDEEIEES) B — A= —§lE
— | (ZADEE —— FTTEIRZE

)
3®
70 90 3 1®
90 3®
3@
Yol
N &
A A
Yol
B 3 1,800 44
B 3 2,100 34




(1) T

-3
16 16 ~
28 HE ~ 16~ 23~ ~
= 1Ly

6 B ha 2 4 ha 1,719 ha
1 @& ha 18 ha 3 & ha
16 % 6 % 22 %

59,0 © 26,9 ® 14,69

13,9 3 6,1 T 24.8 d

1,7 B 2O 7,3 3B

65
4 3 52 1,80®
5®m
16 254 ~ 16 ~
= 3-9
@] J— —_
J=!
J=!




5 @mx=5 @m
Km

Km

(-
=

FEINX
ZIEZE [ ih i

EEEE (AR, B TR THRARE20K L L)
BAULEER Ghi B ER BTV -%)

AHRIER (FEFT. TREVA—. ARESH)

P XM GEREE1000m B ORI /NFE[EEH)




T 5
1T Vol 1y 11 < 1T
4N 1T iT 1=
iT iT A iT =] =
-4 1T
1T 1T
1T 1T 1T
iT
1T
214
8.9
i1 EHEE, a%a. BAE%R Hthieh 1 FBES. tA%S. BLORR
W2 EREe. BRSA. AREE b2 ERERS. BRRE. ARRS
;#ESE; am;ts-z& ] 287 |/ g3 ErRES. ESRLES. IEEs 2 87
i3 - HOX 4 - ﬁﬂl;;}‘ it %'" i 4 Zl%S, LEZS
H
17 o 1T
o 20 30 /
17 o 3,2 ® iTE 4,3 ® iTE
o) 2,100 < 34 3,2 ® < 26




1,1 0 3,2 & 3,33
- AH 2 28 2 70% 2 26%
30 1 7 =
,— 0 0 0
= R 1 21% 1 20% 127%
2 T
1T =2 1T
/ 0 2 4 6
R 17 = 8K I 1.5
ES = L I 53
4 B2 1052 | 2
1155 B 2.0
& 12658 . 1.7
& 1352 e 1.4
B 458 Il 1.3 /
1T 158 el 1.6
16E5 B 1.3
Fa 17 =] 17658 W 16 N=22A/H
i Iz
5 -10
F
Vol 214 |/
30 30 30 8 =|
41
{[j_- - /,— ~ /,—
25 1T 1N 1T
=]
=i
184 |/ o 287 |/ 214 |/
vl
o} L
J=] 17
3,1 2 ha 2,9 ® ha 3,177 ha
4103 102 @ 987 &
9,42 272 B 262D
= 2 30 % 2 53 % 2 66 %
157 ® 2243 18248
358 6,0 & 4,1 3B




